
4 × 5

Яг
уб
оов
.Р
Ф



{1, 2, 3, 4, 5, 6, 7, 8, 9}

Яг
уб
ов
.Р
Ф



3×3

2 × 2

ABCD ∠CBD = ∠CAB ∠ACD =
∠BDA ∠ABC = ∠ADC

8

(0, 1)

Яг
уб
овв
.Р
= ∠ Ф∠CABAB ∠ACDACD ==



ABCD AB + CD = AC BC
K ∠ADB = ∠BDK BK : KC

a b c ∈ [0, 1]

a17 − a10b7 + b17 − b10c7 + c17 − c10a7 ≤ 1 .

A(0, 0) B(1, 0)
C(3, 0) D(4, 0) E(−2, 5) F (−1, 5) G(8, 5) H(9, 5)

AB CD EF GH

Яг
уб
о5)5) GG(8(8 в5)5) HH(9(9 5)

.Р
ACAC

BKBK

11 ..

ФBCBC
BKBK : KCKC



f(x) = x2 + ax + b
(0, 1)

f(b) ≤ 0
ABCD

O AOB COD
AD AO > AB

x [x] · {x} = 100
[x2]− [x]2 [y] y

y {y} = y−[y]
y

Яг
уб
ов
.Р

AOB

· {· {xx}} = 100100

{{yy}} == yy−[y]
ФD

CODCOD



f(x) = lg[x]+lg{x}
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11 × 11

3 × 3

AB AC ABC C1 B1

BB1 CC1 O
D AB1DC1

D ABC
AB1OC1 BOC

{xn} x0 = 1
x1 = 6

xn+1 =

{

xn + sin xn, xn > xn−1;
x

n
+ cos x

n
, x

n
≤ x

n−1.

x
n

< 100 n

Яг
x

n уn+1 ==

{{

x

n
<< 100100

б{{xxnn}}

{{

xxnn + sinsin xx

x
n

+ cos+ cos

о
C1

ABAB11DCDC1

ABAB

}}

вABCABC

ABCABC

.Р
) > Ф4

xx


